V = voltage (units: volts, V) I = current (units: amps, A) R = resistance (units: ohms, Q)

V=IR
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Series Circuit Practice Problems

1.

v\‘d?’ .

Remember.... 1) Current is the Same Tpm=I,=1,=1;)
2) Resistance is Added (R =R 17R;+R3y)
3 Vo :“.-;6;;;‘ 15 Added Vy = V)tV g Y,
A 47.0-Q resistor and a 82.0-Q resistor are connected in @ nd placed across a 45.0-V battery.
a) What is the equivalent resistance of the circuit? R adds in seres

l2r= AT + Q2 Power % 6,572 w

- . Pl 2999 w
@Z.q ) P = 1571 W
b) What is the value of Tlie Gurrent in the circuit? Currentis came

VAR _ |
dsy=T.nqn (LTOR) e ma Veo34a.t2a

¢) What is the potential drop (voltage) across the 47.0-Q resistor? Current-ig Same Vs 2 8.6v D"P =

V= 1R g, total
.5 ting @ 4100 = | (.4 V) 45-Y  Vputmin
V= 0349 - 47 ’
Three resistors of 2 Q, 5 Q and 3 Q are connected in gorios across a 5-V battery.
a) What is the equivalent resistance of the circuit? adds \n series

Rr= 2 +5+3

g — Pover 3 p -
b) What is the curren l'l'ﬁ'?ujlgh the resistors? currents ¢ame Fo =005 Wj

\/;|K = & A0 Pr= 2y
5V= T\ Qﬂ/ i

pim—-v—

¢) What is the voltage drop (potential drop) across each resistor?

T—

V= 05241 =V
) V=0550 =25V

V= 3p08 =15V

A 200-Q resistor and a 30.0-€ resistor are connected in and placed across a 120-V potential difference.
X . -

a) What is the current in the circuit? RT - 2030 = 500

l20v=T 50

= 52w
b) What is the voltage drop (potential drop) across each resistor r)l = 2w
V= 24A 200 =48V - fr~ 206w

V=24 301 =72V

Data tables & questions on the following page




